Homework #6 (4.22)

1. ZETHEH B+ (n=3) :

A B+ Tree
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1) EHMCRIEANT 36, 18, 40 FHY B+ #;
2) BIHTE 1) FriS8Y B+ AR MIBR 43, 13, 7 Z/Eam%&H B+1%

2. RRBHWMTHRE, IS NZHBIFFIRFREMRER hash H. EZEE-:

A[11001] B[00111] C[00101] D[00110] E[10100] F[01000] G [00011]

H[11110]  1[10001] J[01101] K[10101] L[11100] M [01100] N [11111]

1) R LRRERR A N NIRFHRAZI Y RBIIRS P, EFMERNA—DHE
2R, BIUEREZURNINMEE BVENEIIRSINZE, NWEBREBATREZ
BOIRSIRHBILNE? FIEEHRE E FranBhrEaRE.

2) Ai—E&p, MRBAALEMRIIRS], ERKREAE, BRHRERESB/ARE
REEFAERRT 80%R A 1EINF A, NEIMBEZRFBATREIZEIIRSIFHE LD
7 FEEHEEB FIERNRTHNEMRE (BIEHRTHRE) .



